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DIMENSIONS

50Hz

GEAR RATIO 3.6 5 6 1.5 9 10 12.5 15 18 20 25

MODEL

416 300 250 200 166 150 120 100 a3 75 60
99 13.8 16.5 @ 20.7 24.8 215 344 413 | 496 496 | 62.1
S9KBmB( )

_ 0.813 0970 | 1.352 1617 2.029 2430 2695 3371 4047 4861 4.861  6.086

36 40 50 60 75 90 100 120 150 180 200

MODEL

41 37 30 25 20 16 15 12 10 8 7.5

894 | 993 100 100 100 100 100 100 100 100 100

SOKBoB( )

8.761 | 9.731  9.800 95.800 9.800 9800 95.800 9.800 9.800 9.800 9.800

60Hz

3.6 5 6 7 9 10 | i1 18 20 25

500 360 300 240 200 180 144 120 100 90 72

8.2 113 13.6 17.0 20.4 22.7 284 34.0 40.8 40.9 51.1

0666 0.804 1107 | 1.333 | 1.666 1999 2225  2.783  3.332  3.998  4.008 | 5.008

36 40 50 60 75 90 100 120 150 180 200
MODEL
50 45 36 30 24 20 18 15 12 10 g
: 736 81.8 100 100 100 100 100 100 100 100 100
SYKBoB( )
6007 7.213 8016 9800 9800 9800 9800 9800 9800 98200 98200 9800
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+ INTER-DECIMAL GEAR HEAD
«MODEL : S9GX10B(H,L)
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*MOTOR MODEL : S9140GCC
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